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(2 {1,2,3) n{2,3,4=1{2,3}

(3 11{1,2,3} =3

4) {1,2,3}®{2,3,4}={ 1,4}

(5) {1,2,3} @ (3,4} ® {3,4} ={1,2,3}

(6) P({1,2,3}) = { {1,2,3}, {1.2}, {1.3}, {2.3}, {1}, 1

() P({1,2,3}) - {{1,2,3}, {}} = {{1.2}, {13}, {2.3}, {1}, {2}, {3}}

(8) {1,2,3} x {1,2,3} = {(1.1), (1.2), (1.3), (2.1), (2,2), (2.3).
(3.1), 3.2), (3,3) }

9 {1,2} x {a, b, ¢} x {4, 5} = {(1,a,4), (1,a,5), (1,b,4), (1,b,5),
(1,¢,4), (1,¢,5), (2,a,4), (2,a,5), (2,b,4), (2,0,5), (2,c,4), (2,¢,5)}

(10) | {1,2,3,4,5} x {6,7,8,9} | = 20
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/\d/\ X={ab,c,d, e, f,g h,ij}
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WD UDER ={a b d} (2 UDTH ={

(3) UDKKIT = {d} (4) UDt/INTE ={ f,g h}

(B5) max U= {d} (6) min U= {}

(7 supU={d} 8 infU={}

5 ROBFRICONTEBWIZEZGE L.
X={ab,c,de,f g}
R ={(a, a), (a, D), (a, ¢), (b, a), (b, b), (b, ¢), (¢, a), (¢, b), (c, ¢),
(d’ d)’ (d7 e)’ (e’ d)’ (e’ e)’ (ﬂf)’ (ﬁ g)’ (g’f)’ (g’ g) }
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